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M.A. ECONOMICS (Third Semester)
EXAMINATION, Dec. - Jan., 2021-22

ECONOMICS
Paper Second

(International Trade)

Time : Three Hours] [Maximum Marks : 80


Note : Attempt all sections as directed.



(Section-A)



Objective/Mulitple Choice Questions

(1 Mark each)



Note : All questions are compulsory. Each question carries
      1 Mark.

P.T.O.
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    
 

(A) 

(B) 

(C)   

(D)   

Who explained the theory of compartive costs in terms
of money?

(A) David Ricardo

(B) G.V. Haberler

(C) F.W. Taussing

(D) J.S. Mill

 
  

(A) 

(B) 

(C) AB

(D) AB

According to Heckscher-Ohlin theorem, a nation will
export a commodity which is :

(A) Intensive in the relatively abundant factor.

(B) Intensive in the relatively cheap factor

(C) Both (A) and (B) are necessary

(D) Neither (A) nor (B) are necessary.
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     Inter-regional and Interna-
tional Trade

(A) 

(B) 

(C) 

(D) 

When was the Bertil Ohlin book Inter-regional and
International Trade Published?

(A) 1919

(B) 1933

(C) 1936

(D) 1949

  

(A)  

(B)  

(C)  

(D)  

Tariffs initial effects is-

(A) Price effect

(B) Production effect

(C) Consumption effect

(D) Revenue effect
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         


(A) 

(B) 

(C) 

(D) 

The theorem effect of factor endowment change on
trade is related on-

(A) Stopler Samuelson

(B) G. V. Haberler

(C) Rybczynski

(D) Prof. Taussig

 

(A) 

(B) 

(C) 

(D) 

Production possibility curve is concave of the origin,
while-

(A) Constant opportunity costs between two
commodities

(B) Increasing opportunity costs between two

commodities

(C) Decreasing opportunity costs between two
commodities

(D) None of these.
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  

(A)   

(B) 

(C)  

(D)  

According to Kindleberger the trade effect of tariff is-

(A) Sum of price and consumption effects

(B) Sum of consumption and protection effects

(C) Sum of protection and revenue effects

(D) Sum of redistribution and revenue effects

 


(A) 

(B) 

(C)  

(D) 

Which of the following is given the theory of Reciprocal
Demand of international trade.

(A) David Ricardo

(B) G.V.  Haberler

(C) J.S.Mill

(D) Eli Heckscher
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 


(A)  

(B)

(C) 

(D) 

The Theorem Effect  of Change in commodity prices
on real factor rewards on trade is related on-

(A) Stopler-Samuelson

(B) Heckscher-Ohlin

(C) Rybczynski Theorem

(D) Marshall - Lerner

 


(A) 

(B)  

(C) 

(D) 

A deficit or surplus in the India's balance of payments
is measured by the net balance of -

(A) The Current Account

(B) The Capital Account

(C) Allocation of SDRs and the statistical discrepancy

(D) None of the above
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11. 
 

(A) 

(B) 

(C) 

(D) 

A tariff that a country imposes has an effects on its
terms of trade-

(A) Unfavorable

(B) Favorable

(C) Constant

(D) None of the above

 


(A) 

(B) 

(C)  

(D) 

The difference between the export and import of goods
is Called-

(A) Balance of trade

(B) Balance of payment

(C) Balance of current account

(D) Balance of capital account
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        


(A)  

(B)  

(C) 

(D) 

The exchange rate is kept the same in all parts of the
market by-

(A) Exchange arbitrage

(B) Interest arbitrage

(C) Hedging

(D) Speculation

 

(A)    

(B)  

(C) 


(D) 
   

A Spot Foreign Exchange Transaction rate refers to-

(A) The sale of foreign exchange for delivery.

(B) The purchase of foreign exchange for delivery.

(C) The purchase or sale of foreign exchange for
delivery in future.

(D) The purchase or sale of foreign exchange for
delivery within two business days.
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         



(A)  

(B) 

(C) 

(D) 

Devaluation, will improve the balance of payment
deficit, if sum of elasticity of exports and imports of
the devaluing country is-

(A) Less than one

(B) Greater than one

(C) Negative

(D) Equal to zero

         



(A) 

(B) 

(C)   
    

(D) 

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Under a managed floating exchange rate system,the
Nation's monetary authorities intervene in Foreign

Exchange Markets to-

(A)Smooth out short-run fluctuations in exchange

      rates

(B)Smooth out long-run fluctuations in exchange

        rates

(C)Smooth out short-run and long-run fluctuations
       in exehange rates

(D) Keep exchange rates fixed among a group of nations

  

(A) 

(B) 

(C) 

(D) 

The value of foreign trade multiplier will be high under

the condition when-

(A) Marginal propensity to saving is high

(B) Marginal propernsity to import is high

(C) Marginal propensity to saving and import is low

(D) Marginal Propensity to consume of domestic

goods is high
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18. 

(A) mpm+mps

(B) 1/1-mpc

(C) 1/mpm+mps

(D) 1/mpm-mps

The equation of foreign trade multiplier is -

(A) mpm+mps

(B) 1/1-mpc

(C) 1/mpm+mps

(D) 1/mpm-mps

19. 


(A) 

(B) 

(C) 

(D) 

How can the disequilibrium of balance of payments in
India be removed?

(A) Import promotion and export substition.

(B) Import substitution and export discouragement

(C) Import discouragement and export substitution

(D) Import substitution and export promotion
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            


(A) 

(B) 

(C) 

(D) 

The exchange rate system between fixed and freely
moving exchange rates is called?

(A) Flexible Exchange rates

(B) Hybrid Exchange rates

(C) Forward Exchange rates

(D) Spot Excahange rates



Section-B

Very Short Answer Type Questions





Note : Attempt All Questions.

 

What is the meaning of decreasing opportunity cost?

. 

What is the meaning of comparative cost?

. 

What is the meaning of specific tariff?
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. 

What is the meaning of spot exchange rate?

. 

What is the meaning of devaluation?

. 

What is the meaning of balance of trade?

. 

What is the meaning of Import quota?

. 

What is the meaning of fixed exchange rate?



Section-C
 

Short Answer Type Questions





Note : Attempt All questions. Answer with in 75 words.
. 

What is the meaning of factor price equalisation?

. 

What is the meaning of reciprocal demand?

. 

What is the meaning of barter terms of trade?

. 

What is the meaning of non tariff barriers?

[14]

F - 625

5.       

Explain the redistribution effects of tariff.

6. 

What is the meaning of J-curve?

7. 

What is the meaning of direct control in balance of
payments?

8. 

What is the meaning of back-wash effect of foreign
trade multiplier?



Section-D

 

Long Answer Type Questions





Note : Attempt all questions. Answer within 150 words.

          
    

What is the meaning of Opportunity costs? Explain
the trade under constant opportunity costs.

 OR



Explain the modern theory of international trade.
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 


Explain the Rybczynski theorem under the factor
intensity reversals.

 OR

          
      

What is the meaning of terms of trade? Explain the
factors affecting of terms of trade.

3. 
  

What is the meaning of tariff? As a method of protec-
tion discuss  the  tariff?

 OR


   

Explain the Stopler - Samuelson theorem under the
effects of a tariff on income distribution.

 
   

What is the balance of payments?Explain the
measures to correct the adverse balance of payments.

 OR



What is the meaning of foreign trade multiplier?
Explain.


